) Circle 3,40.

2) Partition and combine the following numbers.

2) 2,757 - L7007

b) 1,504 = + ¥ .

c) 3,082 -

d) 12,39 =

o) _ =7,000 + 30

f - 500 + 6,000 + 3 + 20
3) Solve the following calculations.
000 - 100 = __ ,0OOO — 300 = ___ 600 + _ =1,000
000 -10=___ 000 -30=-___ 920 + __ =1,000
00O -1 = __ 1000 -3 -___ a95 + _ =1,000

L) Solve the Following calculations by finding |,000 more or less

a) 1,000 + 1,000 = b) 2562 -1000 =
c) 2,054 — 1,000 = d 3,167 + 4,000 =
e) 2,843 + 100 - il 70k -100=__

5) Compare the following numbers using the <, > and = symbols.
three thousand, seven
hundred and twelve Q 3.720 6,29 Q 6,924
4,103 Q 413 L, /88 + 100 Q 5,888 — 1,000




